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Cooking Division

Solve the following word problems.

Chef John has 5,678 grams of flour. He wants to
divide it equally into 34 packets. How many grams
of flour will each packet contain?

A restaurant has 7,850 ml of olive oil. They want to
divide it into 50 ml bottles. How many bottles can
they fill completely?

A bakery has 4,554 cupcakes. They want to divide
them equally among 23 different outlets. How
many cupcakes will each outlet get?

A catering service has 6,750 plates. They need to
divide them equally for 45 events. How many
plates will be available for each event?

A chocolate factory has 7,890 chocolate bars. They
want to divide them equally into 30 boxes. How
many chocolate bars will each box contain?

A pasta factory has 5,678 kg of pasta. They want
to divide it equally into 34 bags. How many kg of
pasta will each bag contain?

A juice factory has 7,896 liters of juice. They want
to divide it equally into 56 bottles. How many liters
of juice will each bottle contain?

A pizza shop has 4,554 slices of pizza. They want to
divide them equally among 23 parties. How many
slices of pizza will each party get?
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